M

\ L o
www.ps.bam.de/WE88/10L/L8BEOONP.PS/.PDF; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

1 log =log . 2 ]-log 2 log =log . 2 ]-log a2 log =log . 2 ]-log a2 log =log
[log +log 4 log =log . { =0,5[log +log 4 log =log . { =0,5[log +log 4 log =log . { =0,5[log +log 4 log =log
[log +log 4 log =log . =0,5[loc +log 4 log =log . =0,5[logc +log 4 log =log . =0,5[logc +log 4 log =log
Adaptation: A =47 Threshold: t=0.007 Adaptation: A | Threshold: t=0.007 Adaptation: A Threshold: t=0.007 Adaptation: A
ts=0.007 A =47 A =475 - A =475
log[ & d
] g/ d

\3

6666804505085

[log[ / 4
—log[ /4|

‘477 1535 157 - - '525

1
1
1
1
:
-
1
1
1
1
IN 578
500 Aa/NM 600 C 500 Aa/NM 600

uonew.o}
Yy sajli tefl

1 log =log . a3 ]-log a2 log =log . 2 ]-log a2 log =log . 2 ]-log a2 log =log
,5[log +log g log =log . { =0,5[log +log 4 log =log . { =0,5[log +log 4 log =log . { =0,5[log +log 4 log =log
,5[log +log g log =log . =0,5[log +log 7 log =log . =0,5[log +log 7 log =log . =0,5[log +log 7 log =log
. ~ Adaptation: A =52 ] Threshold: t=0.007 Adaptation: A | Threshold: t=0.007 Adaptation: A Threshold: t=0.007 Adaptation: A
t=0.007 A =52 .
log ["& d

[log[ / 4
“log[ /4|

1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 \

525 157t
{3 2
500 Ad/NM 600 700Ac/NM 400 500 Ad/NM 600

1 log =log . log[ 2 ]-log 2 log =log . log[ 2 ]-log a2 log =log . log[ 2 ]-log a2 log =log
0,5[log +og 4 log =log L plog =05[log +log o log = log L plog =05[log +log o log = log L plog =05[log +log o log = log
0,5[log +log 4 log =log . log =05][log +log 7 log =log . log =05][log +log 4 log =log . log =05][log +log 7 log =log
Adaptation: A =57 3] Threshold: t=0.007 Adaptation: A 3] Threshold: t=0.007 Adaptation: A Threshold: t=0.007 Adaptation: A
t=0.007 A =57 A =575 A =575 . A =575
2 log[ & 4
] “log [/ 4

/883/M\/aP weq sd mmm//:

==
500
=
o
g
o
n
O
Q
3
o
D
<
)
-
0,
o ©
>
N
=
5
I
=
H

1

SW81SAS Jojuow Jo Jajuld Jo uswainseaw Joj uoiealdde f

-1 POSLESHEEE 1 log [ 1 4

—log [*//°4] |

1 1
1 1
1 1
1 1
04 R
’ 1
1 1
1 1
1

'525
500 Ad/NM 600

log =log . log[ 2 ]-log 2 log =log . log[ 2 ]-log 2 log =log . 2 ]-log a2 log =log
log =log . {Iog =0,5[log +log 4 log =log . {Iog =0,5[log +log 4 log =log . { =0,5[log +log 4 log =log
[log +log 4 log =log . log =05][log +log 7 log =log . log =05][log +log 7 log =log . =0,5[loc +log 4 log =log
Adaptation: A =60 5] Threshold: t=0.007 Adaptation: A 3] Threshold: t=0.007 Adaptation: A Threshold: t=0.007 Adaptation: A
t=0.007 A ~60 A =608 A =608 - A =608
28 24 log [/ 4
| —log[ /4

9po9 :[eusrew Wvd  4Add’/Sd dN0038871/10T/883M-T090900¢ :uonensibal Nvd

log [+/"4]
eommmgeélog[ T

¢ la75 Y25 1575 .

M M M
500 Aa/NM 600 700 Ac/NM 400 500 Aa/NM 600 700 Ac/NM 400 3 -2 -1 0 3
WEB880-7, Change of PDT (LMS) in volour vision; Adaptation 'WEB80-8, Change of PDT (LMS) in volour vision; Adaptation WEB881-7, Change of PDT (LMS) in volour vision; Adaptation

BAM-test chart no. WE88; colour vision and adaptation inpa0* setcmykcol or _
Logarithmic cone sensitivity and ratios or differences output:no change compared to input
M V




